
1) (-5749) + 6187

Answer: ____________

2) (9 x 101) + (6 x 48)

Answer: ____________

3) (9 x 101) + (6 x 48)

Answer: ____________

4) 690 ÷ 10

Answer: ____________

5) 690 ÷ 10

Answer: ____________

6) Write 7.1 x 103 as a normal number.

Answer: ____________

7) 'What is the probability of rolling a 
multiple of 3.when rolling a dice

Answer: ____________

8) Find perimeter of 
triangle
a = 7464 ft, b = 8610 
ft,
c = 9739ft

Answer: ____________

9) What would you multiply by to 
decrease an amount by 81%?

Answer: ____________

10) 2583 x 5854

Answer: ____________

11) Round 6.602 to 1 decimal places.

Answer: ____________

12) 9526 - 9112

Answer: ____________

13) (-1274) ÷ 98

Answer: ____________

14) 1818.7 + 8855.4

Answer: ____________

15) Factorise 7j2 + 16j + 4

Answer: ____________
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16) (7 x 9) - (3 - 8)

Answer: ____________

17) Share 80 in the ratio 9:11

Answer: ____________

18) Find the median of the following set of data:

38, 40, 31, 10, 14, 22, 22, 27, 40, 
27, 17, 26, 38, 29, 17, 2, 33, 38, 39, 
9

Answer: ____________

19) (7 x 37) x (7 x 57)

Answer: ____________

20) (7 x 37) x (7 x 57)

Answer: ____________

Total: ___ / 20
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Answers:

1) 438 2) 393306 3) 393306 4) 69 5) 69 6) 7100 7) 1/3

8) 25813ft 9) 0.19 10) 15120882 11) 6.6 12) 414 13) -13 14) 10674.1

15) (1j + 2)(j + 2) 16) 17) 4 : 76 18) 22 19) 8372109375 20) 8372109375
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